pronotice





WHO WE ARE

At Pronotice, we strive to be a dynamic distributor and importer, focusing on both eco-friendly and traditional disposable products for the food service industry. With our roots in Sweden, we aim to establish and expand our local presence in the U.S.

With experience spanning over 15 years in supply chain solutions, we aim to maintain a global presence with offices in the U.S., Europe, and Latin America, reflecting our importing and distribution expertise.

We seek to foster long-standing relationships with manufacturers, with the firm intention of offering potential savings to our customers.

Our selection, which we endeavor to make extensive, includes a variety of disposable food service products, including options in sustainable materials and compostable alternatives. Through our Econotice brand, we strive to meet the growing demand for sustainable solutions, whilst we also aim to serve the janitorial, sanitation, industrial, and hospitality industries, aspiring to be a reliable source for all disposable needs.

Our mission is centered on the ambition to be your go-to source for disposable food service needs, with a strong focus on environmental responsibility. We are committed to offering customized sourcing and delivery solutions that aim to ensure continuity of supply and potentially reduce costs.

OUR BRANDS



A top-tier food service essentials provider



Eco-friendly takeout solutions for a greener world

TABLE OF CONTENT

Pronotice™ - Single-use food service supplies	03
Gloves	04
Paper Hot Cups, Lids & Sleeves	05
Individually Wrapped Ripple Paper Hot Cups	06
Cold Cups	07
Lids for Cold Cups	08
Individually Wrapped Cold Cups	09
Straws & Stirrers	10
Napkins	11
Cutlery	12
Paper Food Containers & Lids	14
Plastic Food Container	15
Portion Cups & Lids	16
Deli Containers	17
Folded Takeout Boxes	18
Paper Food Trays	19
Can Liners	20
Sponges	21
Facial Tissues	22
Toilet Tissues	23
Thermal Paper Rolls	24
Econotice® - Eco-friendly food packaging and single-use products	25
Molded Fiber Containers & Dinnerware	26
Mineral Filled Containers	27
Cup Carrier Trays	28



pronotice™

FOOD SERVICE ESSENTIALS PROVIDER

- At Pronotice®, we aim to offer a comprehensive selection of hand protection solutions, including Nitrile, Vinyl, and Latex gloves, designed to meet a variety of needs and preferences.
- We strive to provide a wide variety of sizes, with the intention of ensuring an appropriate fit for all users.
- Our gloves are designed with the goal of prioritizing safety and hygiene, seeking to offer a reliable barrier against contaminants in various industries.
- Food service Hospitality Janitorial Industrial General purpose



NITRILE GLOVES

ltem #	Size	Quantity
A23572	Small	100 pcs/box (10 boxes/case, 1000 pcs/case)
A23573	Medium	100 pcs/box (10 boxes/case, 1000 pcs/case)
A23574	Large	100 pcs/box (10 boxes/case, 1000 pcs/case)
A23575	Extra Large	100 pcs/box (10 boxes/case, 1000 pcs/case)





NITRILE GLOVES

Item #	Size	Quantity
A23552	Small	100 pcs/box (10 boxes/case, 1000 pcs/case)
A23553	Medium	100 pcs/box (10 boxes/case, 1000 pcs/case)
A23554	Large	100 pcs/box (10 boxes/case, 1000 pcs/case)
A23555	Extra Large	100 pcs/box (10 boxes/case, 1000 pcs/case)
x Non medical	x Powder free	x Finger texture Colors: © Black



VINYL GLOVES

	Item #	Size	Quantity	
	A14502	Small	100 pcs/box (10 boxes/case, 1000 pcs/case)	
	A14503	Medium	100 pcs/box (10 boxes/case, 1000 pcs/case)	
	A14504	Large	100 pcs/box (10 boxes/case, 1000 pcs/case)	
	A14505	Extra Large	100 pcs/box (10 boxes/case, 1000 pcs/case)	
х	Non medical	x Powder free	x Smooth surface	Colors: Clear





Item #	Size		Quantity	
A35022	Small		100 pcs/box (10 boxes/case, 1000 pcs/case)	
A35023	Medium		100 pcs/box (10 boxes/case, 1000 pcs/case)	
A35024	Large		100 pcs/box (10 boxes/case, 1000 pcs/case)	
A35025	Extra Large		100 pcs/box (10 boxes/case, 1000 pcs/case)	
x Non medical	x Powder free	x Finger texture		Colors: Natural

04 pronotice™ Product Catalog

- Pronotice Paper Hot Cups & Lids are designed to be suitable options for serving hot beverages.
- · We offer a variety of sizes, intended to accommodate different beverage preferences and needs.
- To enhance your hot beverage service, we provide a selection of compatible lids, designed with the goal of offering added convenience and assisting in spill-free enjoyment.
- Food service Hospitality

PAPER HOT CUPS



Item #	Size	Rim Ø	Quantity
C50602	6 oz	70 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
C50802	8 oz	80 mm	20 pcs/bag, (50 bags/case, 1000 pcs/case)
C51002	10 oz	90 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
C51202	12 oz	90 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
C51602	16 oz	90 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
C52002	20 oz	90 mm	50 pcs/bag, (20 bags/case, 500 pcs/case)

x Single wall x Non-wrapped

Colors: White





INDIVIDUALLY WRAPPED PAPER HOT CUPS

ltem #	Size	Rim Ø	Quantity
C61002	10 oz	90 mm	20 pcs/bag, (50 bags/case, 1000 pcs/case)
x Single wall	x Wrapped		Colors: White



SIPPER DOME LID FOR HOT PAPER CUPS

Item #	Size	Rim Ø	Quantity
L10802	8 oz	80 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
L11002	10-24 oz	90 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)







SIPPER DOME LID FOR HOT PAPER CUPS

ltem #	Size	Rim Ø	Quantity
L10803	8 oz	80 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
L11003	10-24 oz	90 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)



∠5 Colors: ■ Black



HOT CUP SLEEVE

Item #	Size	Rim Ø	Quantity
S20001	10-16 oz	90 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)

x Double wall

Colors: Nraft

pronotice™ Product Catalog 05

INDIVIDUALLY WRAPPED RIPPLE PAPER HOT CUPS

- Pronotice Individually Wrapped Ripple Paper Hot Cups are crafted with the intention of being ideal for serving hot beverages, including coffee, hot chocolate, among others.
- They feature an extra layer of insulation, designed with the aim of providing optimal heat retention.
- These cups are intended to reduce or eliminate the need for additional cup jackets, offering a convenient solution.
- Food service Hospitality

 ${}^*\!All\ images\ shown\ in\ this\ catalogue\ are\ for\ illustrative\ purposes\ only.$



INDIVIDUALLY WRAPPED RIPPLE PAPER HOT CUPS

Item #	Size	Rim Ø	Quantity
C10802	8 oz	80 mm	25 pcs/bag, (20 bags/case, 500 pcs/case)

x Individually wrapped

Colors: White



- Pronotice PP and PET cold cups are designed to be a preferred option for serving cold beverages, aiming to meet the needs of various settings.
- Made from high-quality, durable plastic, intended to be recyclable and aligning with environmental considerations.
- Considered suitable for use in hotels, restaurants, and cafes, providing a practical solution for serving beverages in these environments.
- Food service Hospitality

PLASTIC PET COLD CUPS



Item #	Size	Rim Ø	Quantity
C70905	9 oz	92 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
C71005	10 oz	78 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
C71205	12 oz	98 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
C71605	16 oz	98 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
C72005	20 oz	98 mm	50 pcs/bag, (12 bags/case, 600 pcs/case)
C72405	24 oz	98 mm	50 pcs/bag, (12 bags/case, 600 pcs/case)
C73205	32 oz	107 mm	25 pcs/bag, (12 bags/case, 300 pcs/case)

x Single wall x Non-wrapped

Colors: Clear

PLASTIC PP COLD CUPS



Item #	Size	Rim Ø	Quantity	
C80304	3 oz	62 mm	100 pcs/bag, (25 bags/case, 2500 pcs/case)	
C80504	5 oz	92 mm	100 pcs/bag, (25 bags/case, 2500 pcs/case)	
C80704	7 oz	92 mm	100 pcs/bag, (25 bags/case, 2500 pcs/case)	
C80904	9 oz	75 mm	100 pcs/bag, (25 bags/case, 2500 pcs/case)	
C81004	10 oz	95 mm	100 pcs/bag, (25 bags/case, 2500 pcs/case)	
C81204	12 oz	95 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)	
C81604	16 oz	95 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)	

x Single wall x Non-wrapped

∠5 Colors: ☐ Translucent

PLASTIC PP COLD CUPS



Item #	Size	Rim Ø	Quantity	
C80305	3 oz	62 mm	100 pcs/bag, (25 bags/case, 2500 pcs/case)	
C80505	5 oz	92 mm	100 pcs/bag, (25 bags/case, 2500 pcs/case)	
C80705	7 oz	92 mm	100 pcs/bag, (25 bags/case, 2500 pcs/case)	
C80905	9 oz	75 mm	100 pcs/bag, (25 bags/case, 2500 pcs/case)	
C81005	10 oz	95 mm	100 pcs/bag, (25 bags/case, 2500 pcs/case)	
C81205	12 oz	95 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)	
C81605	16 oz	95 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)	

x Single wall x Non-wrapped

∠ Colors: ○ Clear



LIDS FOR COLD CUPS

- Pronotice Lids for Cold Cups are offered in a broad array of sizes and models.
- To complement your cold beverage service, we present a selection of compatible lids, designed with the aim of ensuring a spill-free experience.
- These lids are made from durable PP or PET plastic, reflecting our commitment to providing quality and reliability in our products.
- Food service Hospitality

 ${}^*\!All\ images\ shown\ in\ this\ catalogue\ are\ for\ illustrative\ purposes\ only.$



PLASTIC PET SIPPER DOME LID FOR COLD CUPS

Item #	Size	Rim Ø	Quantity
L40905	9 oz	92 mm	100 pcs/bag, (10 bags/case, 1000 pcs/case)
L41005	10-24 oz	98 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
L43205	32 oz	107 mm	50 pcs/bag, (10 bags/case, 500 pcs/case)





PLASTIC PET FLAT LID FOR COLD CUPS

ltem #	Size	Rim Ø	Quantity
L50905	9 oz	92 mm	100 pcs/bag, (10 bags/case, 1000 pcs/case)
L51005	10-24 oz	98 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)
L53205	32 oz	107 mm	50 pcs/bag, (10 bags/case, 500 pcs/case)



PLASTIC PET DOMED LID FOR COLD CUPS



ltem #	Size	Rim Ø	Quantity	
L60905	9 oz	92 mm	100 pcs/bag, (10 bags/case, 1000 pcs/case)	
L61005	10-24 oz	98 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)	
L63205	32 oz	107 mm	50 pcs/bag, (10 bags/case, 500 pcs/case)	



INDIVIDUALLY WRAPPED COLD CUPS

- Pronotice Individually Wrapped Cold Cups are designed to provide added hygienic and convenient solutions, specifically tailored for hospitality settings.
- These cups are crafted from high-quality and durable polypropylene (PP), emphasizing our commitment to quality and durability.
- They are considered ideal for use in hotels and lodging establishments, aiming to enhance the guest experience.
- Food service Hospitality

 ${}^*\!All\,images\,shown\,in\,this\,catalogue\,are\,for\,illustrative\,purposes\,only.$



INDIVIDUALLY WRAPPED COLD CUPS

Item #	Size	Rim Ø	Quantity
C40904	9 oz	78 mm	50 pcs/bag, (20 bags/case, 1000 pcs/case)

x Individually wrapped

 $\stackrel{\longleftarrow}{\stackrel{5}{\hookrightarrow}}$ Colors: \bigcirc Translucent

pronotice Product Catalog — 09

STRAWS & STIRRERS

- Enjoy your beverages with Pronotice Straws and Stirrers, designed to enhance your drinking experience.
- Crafted from durable PP (plastic), our Straws and Stirrers are intended to be the perfect companions for elevating your beverage enjoyment.
- Suitable for a variety of drinks, whether it's a cold latte, tea, juice, or hot coffee, our selection offers a range of sizes to meet your specific needs.
- Food service Hospitality

 ${}^*\!All\ images\ shown\ in\ this\ catalogue\ are\ for\ illustrative\ purposes\ only.$



PP INDIVIDUALLY WRAPPED STRAWS

Item #	Size	Color	Quantity
STR01CW	7.75"	Clear	500 pcs/bag, (24 bags/case, 12000 pcs/case)
STR02BW	8.75"	Black	500 pcs/bag, (24 bags/case, 12000 pcs/case)







Item #	Size	Color	Quantity
STR03BN	5.0"	Black	500 pcs/bag, (20 bags/case, 12000 pcs/case)
STR04CN	7.75"	Clear	500 pcs/bag, (24 bags/case, 10000 pcs/case)

x Non-wrapped



PP NON-WRAPPED STIRRERS



Item #	Size	Color	Quantity
STI01RN	5.25"	Red	1000 pcs/box, (10 boxes/case, 10000 pcs/case)
STI02RN	5.25"	Black	1000 pcs/box, (10 boxes/case, 10000 pcs/case)
STI03RN	7.25"	Red	500 pcs/box, (10 boxes/case, 5000 pcs/case)

x Non-wrapped



- Experience the softness and quality of Pronotice Napkins, which are created with the intended goal of meeting your expectations.
- Our napkins are available in various sizes and layers, offering options from 1-ply to 2-ply and aiming to accommodate your specific needs.
- · With an extensive variety of options, including dinner, beverage, and interfold napkins, you're invited to choose the option that best aligns with the needs of your business.
- Food service Hospitality



DINNER NAPKINS

Item #	Description	Color	Quantity
ND1501W	15 in x 17 in, 1 ply, $1/8$ folding	White	250 pcs/bag, (12 bags/case, 3000 pcs/case)
ND1502W	15 in \times 17 in, 2 ply, 1/8 folding	White	150 pcs/bag, (20 bags/case, 3000 pcs/case)
ND1701W	17 in x 17 in, 1 ply, 1/4 folding	White	150 pcs/bag, (20 bags/case, 3000 pcs/case)

Colors: White





BEVERAGE NAPKINS

ltem #	Description	Color	Quantity
NB0901W	9 in x 9 in, 1 ply, 1/4 folding	White	500 pcs/bag, (8 bags/case, 4000 pcs/case)
NB0901K	9 in x 9 in, 1 ply, 1/4 folding	Kraft	500 pcs/bag, (8 bags/case, 4000 pcs/case)
NB9502B	9.5 in x 9.5 in, 2 ply, 1/4 folding	Black	100 pcs/bag, (10 bags/case, 1000 pcs/case)

Colors: White Kraft Black









TALL FOLD NAPKINS

Item #	Description	Color	Quantity
NT7501W	7 in x 13.5 in, 1 ply, 1/8 folding	White	500 pcs/bag, (20 bags/case, 10000 pcs/case)
NT0701W	7 in x 13 in, 1 ply, $1/6$ folding	White	500 pcs/bag, (20 bags/case, 10000 pcs/case)

Colors: White





INTERFOLD DISPENSE NAPKINS

Item #	Description	Color	Quantity
NI0802W	8 in \times 6.5 in, 2 ply, $1/8$ folding	White	250 pcs/bag, (24 bags/case, 6000 pcs/case)

Colors: White



- $\bullet \ \, \text{Pronotice Cutlery provides a selection of medium-weight to heavy-weight plastic utensils.}$
- We invite you to explore our broad variety of options, available in kits or bulk packaging, to find what best suits your business needs.
- Our cutlery solutions strive to enhance catering and dining experiences.
- Food service Hospitality



PP MEDIUM WEIGHT CUTLERY KIT, 6 PCS - PFAS FREE

Item #	Content	Color	Quantity
CKPP6W	1 fork, 1 knife, 1 teaspoon, 1 napkin, 1 salt, 1 pepper	White	1 kit/bag, (250 kits/case)
CKM16B	$1 {\sf fork}, 1 {\sf knife}, 1 {\sf teaspoon}, 1 {\sf napkin}, 1 {\sf salt}, 1 {\sf pepper}$	Black	1 kit/bag, (250 kits/case)
x PFAS free	x Wrapped x Medium weight		∠ Colors: White Black



PP MEDIUM WEIGHT CUTLERY KIT, 3 PCS - PFAS FREE

Item #	Content	Color	Quantity
CKM13W	1 fork, 1 knife, 1 napkin	White	1 kit/bag, (250 kits/case)
x PFAS free	x Wrapped x Medium weight		$\stackrel{\longleftarrow}{\stackrel{\leftarrow}{\stackrel{\leftarrow}{\stackrel{\rightarrow}}}}$ Colors: \bigcirc White





Item #	Cutlery	Individually Wrappe	d Color	Quantity
CBM1FW	fork	No	White	(1000 pcs/case)
CBM1KW	knife	No	White	(1000 pcs/case)
CBM1SW	spoon	No	White	(1000 pcs/case)
CBM1FB	fork	No	Black	(1000 pcs/case)
CBM1KB	knife	No	Black	(1000 pcs/case)
CBM1SB	spoon	No	Black	(1000 pcs/case)
CWM1KB	knife	Yes	Black	(1000 pcs/case)
CWM1FB	fork	Yes	Black	(1000 pcs/case)
PFAS free	x Non-wrapped	x Wrapped x	Medium weight	$\angle \frac{5}{2}$ Colors: \bigcirc White \bigcirc Bla

PP HEAVY WEIGHT CUTLERY KIT, 6 PCS - PFAS FREE



Item #	Content	Color	Quantity
CKH16W	1 fork, 1 knife, 1 teaspoon, 1 napkin, 1 salt, 1 pepper	White	1 kit/bag, (250 kits/case)
CKH16B	$1 {\rm fork}, 1 {\rm knife}, 1 {\rm teaspoon}, 1 {\rm napkin}, 1 {\rm salt}, 1 {\rm pepper}$	Black	1 kit/bag, (250 kits/case)
x PFAS free	x Wrapped x Heavy weight		$ \stackrel{\longleftarrow}{\stackrel{5}{\sim}} Colors: \bigcirc White \bigcirc Black $

PP HEAVY WEIGHT BULK CUTLERY - PFAS FREE

x Non-wrapped x Heavy weight



x PFAS free

Item #	Cutlery	Individually Wrapped	Color	Quantity
CBH1FW	fork	No	White	(1000 pcs/case)
CBH1KW	knife	No	White	(1000 pcs/case)
CBH1SW	spoon	No	White	(1000 pcs/case)
CBH1FB	fork	No	Black	(1000 pcs/case)
CBH1KB	knife	No	Black	(1000 pcs/case)
CBH1SB	spoon	No	Black	(1000 pcs/case)
				^

Colors: White Black

- Pronotice Cutlery provides a selection of medium-weight to heavy-weight plastic utensils.
- We invite you to explore our broad variety of options, available in kits or bulk packaging, to find what best suits your business needs.
- Our cutlery solutions strive to enhance catering and dining experiences.
- Food service Hospitality

 ${}^*\!All\,images\,shown\,in\,this\,catalogue\,are\,for\,illustrative\,purposes\,only.$



PS MEDIUM WEIGHT CUTLERY KIT, 6 PCS - PFAS FREE

Item #	Content	Color	Quantity
CKM26W	1 fork, 1 knife, 1 teaspoon, 1 napkin, 1 salt, 1 pepper	White	1 kit/bag, (250 kits/case)
CKM26B	$1 {\sf fork}, 1 {\sf knife}, 1 {\sf teaspoon}, 1 {\sf napkin}, 1 {\sf salt}, 1 {\sf pepper}$	Black	1 kit/bag, (250 kits/case)
x PFAS free	x Wrapped x Medium weight		Colors: White Black



PS MEDIUM WEIGHT BULK CUTLERY - PFAS FREE

Item #	Cutlery	Individually Wrapped	Color	Quantity
CBM2FW	fork	No	White	(1000 pcs/case)
CBM2KW	knife	No	White	(1000 pcs/case)
CBM2SW	spoon	No	White	(1000 pcs/case)
CBM2FB	fork	No	Black	(1000 pcs/case)
CBM2KB	knife	No	Black	(1000 pcs/case)
CBM2SB	spoon	No	Black	(1000 pcs/case)



PS HEAVY WEIGHT CUTLERY KIT, 6 PCS - PFAS FREE

Item #	Content	Color	Quantity
CKH26W	$1 {\rm fork}, 1 {\rm knife}, 1 {\rm teaspoon}, 1 {\rm napkin}, 1 {\rm salt}, 1 {\rm pepper}$	White	1 kit/bag, (250 kits/case)
CKPS6B	$1 {\rm fork}, 1 {\rm knife}, 1 {\rm teaspoon}, 1 {\rm napkin}, 1 {\rm salt}, 1 {\rm pepper}$	Black	1 kit/bag, (250 kits/case)
x PFAS free	x Wrapped x Heavy weight		Colors: White Black



PS HEAVY WEIGHT CUTLERY KIT, 3 PCS - PFAS FREE

Item #	Content	Color	Quantity
CKH23B	1 fork, 1 knife, 1 napkin	Black	1 kit/bag, (300 kits/case)
x PFAS free	x Wrapped x Heavy weight		∠6 Colors:



PS HEAVY WEIGHT BULK CUTLERY - PFAS FREE

x PFAS free x Non-wrapped x Heavy weight

Item #	Cutlery	Individually Wrapped	Color	Quantity
CBH2FW	fork	No	White	(1000 pcs/case)
CBH2KW	knife	No	White	(1000 pcs/case)
CBH2SW	spoon	No	White	(1000 pcs/case)
CBH2FB	fork	No	Black	(1000 pcs/case)
CBH2KB	knife	No	Black	(1000 pcs/case)
CBH2SB	spoon	No	Black	(1000 pcs/case)

pronotice™ Product Catalog

 \angle_{\bullet}^{6} Colors: \bigcirc White \bigcirc Black

PAPER FOOD CONTAINERS & LIDS

- Pronotice Paper Food Containers & Lids are crafted to offer an ideal solution for both dining and takeout needs.
- These containers are durable and sturdy, designed to accommodate both cold and hot food items, ensuring versatility for various culinary requirements.
- With a wide range of sizes available, along with their matching lids, these containers are intended to enhance your customers' dining experience.
- Food service Hospitality

 ${}^*\!All\ images\ shown\ in\ this\ catalogue\ are\ for\ illustrative\ purposes\ only.$

PAPER FOOD CONTAINERS, ROUND



Item #	Size	Quantity
FC3080W	8 oz	25 pcs/bag, (20 bags/case, 500 pcs/case)
FC3120W	12 oz	25 pcs/bag, (20 bags/case, 500 pcs/case)
FC3160W	16 oz	25 pcs/bag, (20 bags/case, 500 pcs/case)
FC3320W	32 oz	25 pcs/bag, (20 bags/case, 500 pcs/case)

Colors: White

LID FOR PAPER FOOD CONTAINERS, ROUND



Item #	Size	Quantity
LD3080W	8 oz	25 pcs/bag, (20 bags/case, 500 pcs/case)
LD3120W	12 oz	25 pcs/bag, (20 bags/case, 500 pcs/case)
LD3160W	16 oz	25 pcs/bag, (20 bags/case, 500 pcs/case)
LD3320W	32 oz	25 pcs/bag, (20 bags/case, 500 pcs/case)

Colors: White

- Pronotice Plastic Food Containers are designed as the ideal choice for packaging your takeout, effectively accommodating both hot and cold food while ensuring its safety.
- These containers are designed to be microwave-safe.
- Available in a variety of sizes, they seek to accommodate diverse serving needs.
- Each size is complemented by its matching lid, aiming to provide convenience and maintain the quality of your food.
- Food service Hospitality

PLASTIC FOOD CONTAINER WITH CLEAR LID, RECTANGULAR



Item #	Size	Quantity
FC112HB	12 oz	150 combos of containers & lids/case
FC116HB	16 oz	150 combos of containers & lids/case
FC124HB	24 oz	150 combos of containers & lids/case
FC128HB	28 oz	150 combos of containers & lids/case
FC132HB	32 oz	150 combos of containers & lids/case
FC138HB	38 oz	150 combos of containers & lids/case
FC148HB	48 oz	150 combos of containers & lids/case
		^





PLASTIC FOOD CONTAINER WITH CLEAR LID, ROUND



Item #	Size	Quantity
FC212HB	12 oz	150 combos of containers & lids/case
FC216HB	16 oz	150 combos of containers & lids/case
FC224HB	24 oz	150 combos of containers & lids/case
FC228HB	28 oz	150 combos of containers & lids/case
FC232HB	32 oz	150 combos of containers & lids/case
FC238HB	38 oz	150 combos of containers & lids/case
FC248HB	48 oz	150 combos of containers & lids/case

x Microwave safe x Cold food x Hot food

∠ Colors: Black

- Pronotice Portion Cups come in both white and black options, with a selection of sizes to choose from.
- Crafted from polypropylene (PP), these Portion Cups are designed to be complemented by their matching PET lids.
- With a focus on durability and resistance, they are presented as a preferable option for packing and serving side dishes and sauces.
- Food service Hospitality

PP PLASTIC PORTION CUPS

ltem #	Size	Color	Quantity
PC07CL	0.75 oz	Clear	250 pcs/bag, (10 bags/case, 2500 pcs/case)
PC10CL	1.0 oz	Clear	250 pcs/bag, (10 bags/case, 2500 pcs/case)
PC15CL	1.5 oz	Clear	250 pcs/bag, (10 bags/case, 2500 pcs/case)
PC20CL	2.0 oz	Clear	250 pcs/bag, (10 bags/case, 2500 pcs/case)
PC32CL	3.25 oz	Clear	125 pcs/bag, (20 bags/case, 2500 pcs/case)
PC40CL	4.0 oz	Clear	125 pcs/bag, (20 bags/case, 2500 pcs/case)
PC55CL	5.5 oz	Clear	125 pcs/bag, (20 bags/case, 2500 pcs/case)
PC07BK	0.75 oz	Black	250 pcs/bag, (10 bags/case, 2500 pcs/case)
PC10BK	1.0 oz	Black	250 pcs/bag, (10 bags/case, 2500 pcs/case)
PC15BK	1.5 oz	Black	250 pcs/bag, (10 bags/case, 2500 pcs/case)
PC20BK	2.0 oz	Black	250 pcs/bag, (10 bags/case, 2500 pcs/case)
PC32BK	3.25 oz	Black	125 pcs/bag, (20 bags/case, 2500 pcs/case)
PC40BK	4.0 oz	Black	125 pcs/bag, (20 bags/case, 2500 pcs/case)
PC55BK	5.5 oz	Black	125 pcs/bag, (20 bags/case, 2500 pcs/case)



x Cold food







PET PLASTIC LID FOR PORTION CUPS



Item #	Size	Color	Quantity
LID07CL	0.75-1 oz	Clear	125 pcs/bag, (20 bags/case, 2500 pcs/case)
LID15CL	1.5-2.5 oz	Clear	125 pcs/bag, (20 bags/case, 2500 pcs/case)
LID32CL	3.25-5.5 oz	Clear	125 pcs/bag, (20 bags/case, 2500 pcs/case)





- Pronotice Deli Containers are designed with durability and practicality in mind, aiming to be a suitable choice for packaging a wide array of food preparations.
- Made from polypropylene (PP), these containers are intended to accommodate both hot and cold foods, aligning with the needs of food service providers.
- Offered in various sizes and paired with their matching lids, our deli containers aspire to enhance your food service settings.
- Food service Hospitality

PP PLASTIC DELI CONTAINERS & LIDS - PFAS FREE



Item #	Size	PFAS Free	Quantity
DC08TR	8 oz	Yes	240 combos of deli containers & lids/case
DC12TR	12 oz	Yes	240 combos of deli containers & lids/case
DC16TR	16 oz	Yes	240 combos of deli containers & lids/case
DC24TR	24 oz	Yes	240 combos of deli containers & lids/case
DC32TR	32 oz	Yes	240 combos of deli containers & lids/case

x Cold food x Hot food x PFAS free

Colors: Translucent

pronotice" Product Catalog — 17

FOLDED TAKEOUT BOXES

- Pronotice Takeout Boxes are designed to provide a wide range of sizes to accommodate your takeout needs, aiming to meet various customer preferences and requirements.
- These boxes offer an ideal solution for safe food transportation, with the main goal of maintaining the integrity of the food during transit.
- Designed with the goal of being user-friendly and resistant to leaks.
- Offered in white and kraft colors.
- Food service Hospitality

 ${}^*\!All\ images\ shown\ in\ this\ catalogue\ are\ for\ illustrative\ purposes\ only.$

FOLDED TAKEOUT BOXES



Item #	Вох	Sizes	Quantity
TB130W	#1 (30 oz)	4.48 in x 3.54 in x 2.55 in	50 pcs/bag, (9 bags/case, 450 bags/case)
TB254W	#2 (54 oz)	7.75 in x 5.51 in x 1.88 in	50 pcs/bag, (4 bags/case, 200 bags/case)
TB376W	#3 (76 oz)	7.75 in x 5.51 in x 2.55 in	50 pcs/bag, (4 bags/case, 200 bags/case)
TB411W	#4 (110 oz)	7.75 in x 5.51 in x 3.54 in	40 pcs/bag, (4 bags/case, 160 bags/case)
TB848W	#8 (48 oz)	5.98 in x 4.72 in x 2.55 in	50 pcs/bag, (6 bags/case, 300 bags/case)

x Folded

Colors: White



FOLDED TAKEOUT BOXES



ltem #	Вох	Sizes	Quantity
TB130K	#1 (30 oz)	4.48 in x 3.54 in x 2.55 in	50 pcs/bag, (9 bags/case, 450 bags/case)
TB254K	#2 (54 oz)	7.75 in x 5.51 in x 1.88 in	50 pcs/bag, (4 bags/case, 200 bags/case)
TB376K	#3 (76 oz)	7.75 in x 5.51 in x 2.55 in	50 pcs/bag, (4 bags/case, 200 bags/case)
TB411K	#4 (110 oz)	7.75 in x 5.51 in x 3.54 in	40 pcs/bag, (4 bags/case, 160 bags/case)
TB848K	#8 (48 oz)	5.98 in x 4.72 in x 2.55 in	50 pcs/bag, (6 bags/case, 300 bags/case)

x Folded

Colors: Kraft



- Pronotice Paper Food Trays are designed with the intention of offering a convenient solution for transporting side dishes and snacks.
- These trays are treated with a food-safe gloss, intended to enhance their durability and resistance.
- With options in red plaid and kraft colors, these trays aim to accommodate diverse aesthetic preferences.
- Food service Hospitality

 $\hbox{``All images shown in this catalogue are for illustrative purposes only.}$

PAPER FOOD TRAYS - PFAS FREE



Item #	Pounds (lb)	PFAS Free	Quantity
PT25RED	0.25 lb	Yes	250 pcs/bag, (4 bags/case, 1000 bags/case)
PT40RED	0.4 lb	Yes	250 pcs/bag, (4 bags/case, 1000 bags/case)
PT50RED	0.5 lb	Yes	250 pcs/bag, (4 bags/case, 1000 bags/case)
PT01RED	1 lb	Yes	250 pcs/bag, (4 bags/case, 1000 bags/case)
PT02RED	2 lb	Yes	250 pcs/bag, (4 bags/case, 1000 bags/case)
PT22RED	2.25 lb	Yes	250 pcs/bag, (2 bags/case, 500 bags/case)
PT03RED	3 lb	Yes	250 pcs/bag, (2 bags/case, 500 bags/case)
PT04RED	4 lb	Yes	250 pcs/bag, (2 bags/case, 500 bags/case)
PT05RED	5 lb	Yes	250 pcs/bag, (2 bags/case, 500 bags/case)



Colors: 🛞 Red plaid

PAPER FOOD TRAYS - PFAS FREE



ltem #	Pounds (lb)	PFAS Free	Quantity
PT25KRF	0.25 lb	Yes	250 pcs/bag, (4 bags/case, 1000 bags/case)
PT40KRF	0.4 lb	Yes	250 pcs/bag, (4 bags/case, 1000 bags/case)
PT50KRF	0.5 lb	Yes	250 pcs/bag, (4 bags/case, 1000 bags/case)
PT01KRF	1 lb	Yes	250 pcs/bag, (4 bags/case, 1000 bags/case)
PT02KRF	2 lb	Yes	250 pcs/bag, (4 bags/case, 1000 bags/case)
PT22KRF	2.25 lb	Yes	250 pcs/bag, (2 bags/case, 500 bags/case)
PT03KRF	3 lb	Yes	250 pcs/bag, (2 bags/case, 500 bags/case)
PT04KRF	4 lb	Yes	250 pcs/bag, (2 bags/case, 500 bags/case)
PT05KRF	5 lb	Yes	250 pcs/bag, (2 bags/case, 500 bags/case)

x PFAS free

Colors: Nraft

- Pronotice Can Liners are manufactured in both high-density and low-density options, with the intention of catering to multipurpose waste management needs.
- The goal is to assist in keeping spaces clean and organized, aiming to contribute to a tidy environment.
- These can liners are intended to be suitable for various environments, including hospitality, offices, kitchens, classrooms, and healthcare facilities.
- Janitorial Industrial

HDPE CAN LINERS CORELESS-PERFORATED



Item #	Size	Thickness	Quantity
HC1212T	12 in x 12 in	0.28 mil	100 bags/roll, (10 rolls/case, 1000 bags/case)
HC2022T	20 in x 22 in	6.1 mic	50 bags/roll, (40 rolls/case, 2000 bags/case)
HC2424T	24 in x 24 in	10 mic	50 bags/roll, (20 rolls/case, 1000 bags/case)
HC2433T	24 in x 33 in	6.1 mic	50 bags/roll, (20 rolls/case, 1000 bags/case)
HC3036T	30 in x 36 in	11.43 mic	25 bags/roll, (20 rolls/case, 500 bags/case)
HC3339T	33 in x 39 in	0.55 mil	25 bags/roll, (10 rolls/case, 250 bags/case)
HC3340T	33 in x 40 in	13 mic	25 bags/roll, (20 rolls/case, 500 bags/case)
HC3860T	38 in x 60 in	22 mic	25 bags/roll, (6 rolls/case, 150 bags/case)
HC4046T	40 in x 46 in	15.30 mic	25 bags/roll, (10 rolls/case, 250 bags/case)
HC4048T	40 in x 48 in	23 mic	25 bags/roll, (10 rolls/case, 250 bags/case)
HC4348T	43 in x 48 in	16.50 mic	25 bags/roll, (8 rolls/case, 200 bags/case)

x High density

Colors: Transparent

LLDPE CAN LINERS CORELESS-PERFORATED



ltem #	Size	Thickness	Quantity
LC2432W	24 in x 32 in	0.67 mil	50 bags/roll, (10 rolls/case, 500 bags/case)
LC3036W	30 in x 36 in	0.70 mil	25 bags/roll, (8 rolls/case, 200 bags/case)
LC3339W	33 in x 39 in	0.70 mil	25 bags/roll, (6 rolls/case, 150 bags/case)

x Low density

Colors: White



LLDPE CAN LINERS CORELESS-PERFORATED



Item #	Size	Thickness	Quantity
LC3339B	33 in x 39 in	1.26 mil	25 bags/roll, (4 rolls/case, 100 bags/case)
LC3858B	38 in x 58 in	1.54 mil	10 bags/roll, (10 rolls/case, 100 bags/case)
LC4046B	40 in x 46 in	1.2 mil	10 bags/roll, (10 rolls/case, 100 bags/case)
LC46B01	40 in x 46 in	1.61 mil	25 bags/roll, (4 rolls/case, 100 bags/case)
LC46B02	40 in x 46 in	2.01 mil	25 bags/roll, (4 rolls/case, 100 bags/case)
LC4347B	43 in x 47 in	1.54 mil	25 bags/roll, (4 rolls/case, 100 bags/case)
LC58B03	38 in x 58 in	2.01 mil	10 bags/roll, (10 rolls/case, 100 bags/case)

x Low density

- Pronotice Sponges are manufactured from synthetic and non-woven materials, with the intention of being resistant and suitable for a variety of cleaning tasks.
- These sponges aim to be flexible, absorbent, and effective for cleaning diverse surfaces, materials, and items.
- They are available in a wide range of sizes, offering options to cater to specific requirements or preferences.

LIGHT DUTY, YELLOW SPONGE WITH WHITE SCOURING PAD



Item #	Size	Quantity
SCS01YW	3.46 in x 3.46 in	1 pc/bag, (40 pcs/case)
SCS02YW	3.14 in x 6.10 in	1 pc/bag, (40 pcs/case)

x Individually wrapped

Colors: White-Yellow



MEDIUM DUTY, YELLOW SPONGE WITH GREEN SCOURING PAD

ltem #	Size	Quantity	
SCS01YG	3.46 in x 3.46 in	1 pc/bag, (40 pcs/case)	
x Individually	wrapped	Colors:	Green-Yellow



CELLULOSE YELLOW SPONGE

Item #	Size	Quantity			
SPG01YE	2.55 in x 3.93 in	1 pc/bag, (72 pcs/case)			
V Individually was pard					

x Individually wrapped

Colors: O Yellow

MELAMINE SPONGE

Item #	Size	Quantity
SPG02WH	2.55 in x 4.52 in	1 pc/bag, (24 pcs/case)

x Individually wrapped

Colors: White

pronotice" Product Catalog 21

FACIAL TISSUES

- Pronotice Facial Tissues are designed to offer comfort, crafted with soft paper for a gentle touch.
- Our selection comes in both flat box and cube formats, intended to suit a variety of settings, from hospitality and offices to on-the-go use.
- We aim for a convenient design that promotes hygiene practices, all with the goal of delivering a user-friendly tissue experience.
- Our products are developed with hospitality in mind, meeting the diverse needs of the sector.
- Hospitality

 ${}^*\!All\ images\ shown\ in\ this\ catalogue\ are\ for\ illustrative\ purposes\ only.$

FACIAL TISSUE, CUBE BOX

Item #	Sheets	Ply	Emboss	Quantity
FT1901	90	2 ply	Plain	90 sheets/box, (36 boxes/case)

x Soft Colors: White

FACIAL TISSUE, FLAT BOX

Item #	Sheets	Ply	Emboss	Quantity
FT0101	100	2 ply	Plain	100 sheets/box, (30 boxes/case)

x Soft Colors: White

- $\bullet \ \, \text{Pronotice Toilet Tissues are designed with the intention of being suitable for restaurants, hotels, and other away-from-home settings. }$
- These tissues are crafted with premium-quality materials, with the purpose of being ideal for professional settings.
- They are available in a range of sizes, with the objective of accommodating your specific needs.
- Janitorial Hospitality

 $\hbox{^*All images shown in this catalogue are for illustrative purposes only}.$



TOILET TISSUE WRAPPED ROLL

Item #	Description	Quantity
TTW400	Wrapped Roll, 2 ply, 400 sheets	96 rolls/case
TTP500	Premium Wrapped Roll, 2 ply, 500 sheets	96 rolls/case

x Individually wrapped Colors: White



TOILET TISSUE JUMBO ROLL

Item #	Description	Quantity
TTJ012	Jumbo Roll, 2 ply	12 rolls/case

Colors: White

pronotice Product Catalog — 23

THERMAL PAPER ROLLS

- Designed to be suitable for POS machines, cash registers, or kitchen printers, Pronotice Thermal Paper Rolls aim to meet the compatibility requirements of various devices.
- These rolls are BPA-free and compatible with common thermal POS printers.
- The goal is for users to experience high-quality and heat-sensitive printing with Pronotice Thermal Paper Rolls.
- Food service Industrial Retail Hospitality

 ${}^*\!All\ images\ shown\ in\ this\ catalogue\ are\ for\ illustrative\ purposes\ only.$

THERMAL PAPER ROLLS 2 1/4 IN - BPA FREE

Item #	Size	BPA Free	Quantity
T20501	2 1/4 in x 50'	Yes	10 rolls/bag, (5 bags/case, 50 rolls/case)
T20851	2 1/4 in x 85'	Yes	10 rolls/bag, (5 bags/case, 50 rolls/case)
T22001	2 1/4 in x 200'	Yes	5 rolls/bag, (10 bags/case, 50 rolls/case)





THERMAL PAPER ROLLS 3 1/8 IN - BPA FREE

Item #	Size	BPA Free	Quantity	
T32301	3 1/8 in x 230' Yes		5 rolls/bag, (10 bags/case, 50 rolls/case)	
T32731	3 1/8 in x 273'	Yes	5 rolls/bag, (10 bags/case, 50 rolls/case)	

X BPA free Colors: White



econotice[®]

ECO-FRIENDLY FOOD PACKAGING AND SINGLE-USE PRODUCTS

MOLDED FIBER CONTAINERS & DINNERWARE

- · Econotice® aims to provide a selection of plates, platters, bowls, and hinged containers, designed with the intention to cater
- functionality and aesthetic appeal.
- · A wide variety of sizes are available, designed to suit different food serving needs and accommodate diverse culinary requirements.
- Food service Hospitality

*All images shown in this catalogue are for illustrative purposes only.



MOLDED FIBER PLATE, ROUND

	Item #	Size	# Compartments	PFAS Free	Quantity
	ENP10911	9"	1	No	125 pcs/bag (4 bags/case, 500 pcs/case)
х	Compostable	x Freezer safe	e x Microwave saf	e	Colors: (White



MOLDED FIBER PLATE, ROUND - PFAS FREE

Item #	Size	# Compartments	PFAS Free	Quantity
ENP10911PF	9"	1	Yes	125 pcs/bag (4 bags/case, 500 pcs/case)
ENP11011PF	10"	1	Yes	25 pcs/bag (4 bags/case, 500 pcs/case)

x Compostable x PFAS free

Colors: White

MOLDED FIBER HINGED CONTAINER - PFAS FREE



Item #	Size	# Compartments	PFAS Free	Quantity
ENH49611PF	9" x 6"	1	Yes	125 pcs/bag (2 bags/case, 250 pcs/case)
ENH49911PF	9" x 9"	1	Yes	100 pcs/bag (2 bags/case, 200 pcs/case)

x Compostable x PFAS free

Colors: White

MOLDED FIBER BOWL, ROUND - PFAS FREE



Item #	Size	PFAS Free	Quantity
ENB11201PF	12 oz	Yes	125 pcs/bag (8 bags/case, 1000 pcs/case)
	DEAD!		

x Compostable x PFAS free

Colors: White



MOLDED FIBER PORTION CUP, ROUND



ltem #	Size	PFAS Free	Quantity
ENC10201	2 oz	No	100 pcs/bag (20 bags/case, 2000 pcs/case)
ENC10401	4 oz	No	100 pcs/bag (20 bags/case, 2000 pcs/case)

x Compostable x Freezer safe x Microwave safe

Colors: White

MOLDED FIBER LID FOR PORTION CUP, ROUND



Item #	Size	PFAS Free	Quantity
ENC50201	2 oz	No	100 pcs/bag (20 bags/case, 2000 pcs/case)
ENC50401	4 oz	No	100 pcs/bag (20 bags/case, 2000 pcs/case)

x Compostable x Freezer safe x Microwave safe

- Aim to elevate your customers' take-out experience with Econotice® Mineral Filled PP Containers.
- These containers are available in multiple sizes and with different compartments, offering options that are thought to be suitable to your specific needs.
- With the purpose of offering practical solutions, our Mineral Filled Containers are meant to be durable, microwavable, and stackable.
- Food service Hospitality

MINERAL FILLED CONTAINERS - PFAS FREE



Item #	Size	# Compartments	PFAS Free	Quantity
EMC6611F	6" x 6"	1	Yes	100 pcs/bag (3 bags/case, 300 pcs/case)
EMC9611F	9" x 6"	1	Yes	100 pcs/bag (2 bags/case, 200 pcs/case)
EMC8811F	8" x 8"	1	Yes	100 pcs/bag (2 bags/case, 200 pcs/case)
EMC8831F	8" x 8"	3	Yes	100 pcs/bag (2 bags/case, 200 pcs/case)
EMC9911F	9" x 9"	1	Yes	75 pcs/bag (2 bags/case, 144 pcs/case)
EMC9931F	9" x 9"	3	Yes	75 pcs/bag (2 bags/case, 144 pcs/case)

x Cold food x Hot food x PFAS free



MINERAL FILLED CONTAINERS - PFAS FREE



Item #	Size	# Compartments	PFAS Free	Quantity
EMC6612F	6" x 6"	1	Yes	100 pcs/bag (3 bags/case, 300 pcs/case)
EMC9612F	9" x 6"	1	Yes	100 pcs/bag (2 bags/case, 200 pcs/case)
EMC8812F	8" x 8"	1	Yes	100 pcs/bag (2 bags/case, 200 pcs/case)
EMC8832F	8" x 8"	3	Yes	100 pcs/bag (2 bags/case, 200 pcs/case)
EMC9912F	9" x 9"	1	Yes	75 pcs/bag (2 bags/case, 144 pcs/case)
EMC9932F	9" x 9"	3	Yes	75 pcs/bag (2 bags/case, 144 pcs/case)

x Cold food x Hot food x PFAS free



CUP CARRIER TRAYS

- The Econotice® Cup Carrier Tray is designed to offer a convenient solution for transporting multiple cups.
- Crafted from materials that are intended to be recyclable and biodegradable, this product aims to reduce environmental impact and contribute to sustainability efforts.
- Considered to be ideal for a variety of settings, including cafes, food courts, and catering events.
- Food Service Hospitality

 ${}^*\!All\ images\ shown\ in\ this\ catalogue\ are\ for\ illustrative\ purposes\ only.$



2 CUP CARRIER TRAY - BPA FREE

Item #	Cups	Fits (oz)	BPA Free	Quantity
ENCC021	2 Cups	8-32 oz	Yes	100 pcs/bag (6 bags/case, 600 pcs/case)
x Molded fiber	x Compostable	x BPA free	Phthalate free	Colors: Nraft



4 CUP CARRIER TRAY - BPA FREE

Item #	Cups	Fits (oz)	BPA Free	Quantity
ENCC041	4 Cups	8-32 oz	Yes	75 pcs/bag (4 bags/case, 300 pcs/case)

x Molded fiber x Compostable x BPA free x Phthalate free

Colors: Nraft

www.pronoticegroup.com

Contact us: +1 833-981-4976 North Miami, FL 33181, United States.